Problem Set 9






Name:

Key

     _
1.  Draw a mechanism for this reaction.  Why is the alkene shown the major product? 
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reaction under thermodynamic control

so most stable alkene is formed

(Zaitsev's Rule)


2.  Draw a mechanism for this reaction.  What is the rate equation for this reaction?
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3.  Draw a mechanism for this reaction:  (note: there should be no strong bases (anionic oxygens) formed in the presence of a strong acid)
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4. Provide either the starting materials or major product for the following reactions:

Note: the stereochemistry below is to show relative stereochemistry between substituents (i.e. cis/trans).  Each product that is chiral would be racemic.
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5.  Which reaction is faster?  Why?
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The bottom reaction is faster; the alkene is more electron-rich and, thus, more nucleophilic.  The intermediate carbocation – product of the rate limiting step – is more stable in the bottom reaction than the top reaction.
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